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Resistors in series and parallel





Extension�Sheet





Components in series have the same current through them.


Components in parallel have the same voltage across them.
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= R1 + R2  = 2 + 1  = 3 
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Questions


For each question show all your working clearly.


a)	What is the resistance of a wire if 10 V�		sends 2 A through it?


	b)	What p.d. is needed to send 2 A through a�	10 ( resistor? 


	c)	What current flows if 12 V is applied to a�	4 ( resistor?








In the circuit shown,


What is the combined resistance?


What is the current flowing?


What is the p.d. across the 2 ( resistor?


What is the p.d. across the 3 ( resistor?








The circuit shows 4 cells in series with�2 resistors.


	The voltage across the 3 ( resistor is 6 V.


What is the current through the 3 ( resistor?


What is the current through the 1 ( resistor?


What is the p.d. across the 1 ( resistor?


What is the p.d. across the battery?


What is the p.d. across each cell?





--------------------------------------------------------------------------








In the circuit shown, each of the 4 cells has a�p.d. of 1.5 V.


What is the total p.d. of the battery?


What is the p.d. across the 6 ( resistor?


What is the current through the 6 ( resistor?


What is the p.d. across the 3 ( resistor?


What is the current through the 3 ( resistor?


What is the current through the battery?


Using the answers to (a) and (f), what is�	the resistance of the circuit?
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what current flows? R, R, pd.V 6V
Current, /= = =2 amps

resistance, R 3








